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goooo
gbooboooobooobobooobooboobobooboboooooboobobobooooboo
O3700000000000000000 mapl3105100000m,;;(0000 —m;;) 0
map[i-1]1(j-11000000000000O0O0000O0O0O00O000O0OODOOO0O0O0O00
0000000000000000000D000000000000%0

goboobooooooooooooobooooooboOobobobooooooooooooooo
gooooboooooobobbbboOo(@esuoH)yoooooooooooooooooooo

maplil[j]

03 0000bo0booobooo1ooon

0O map(5][7] O000O0i0 jO000000OCO0ODODODmaplillj] = -100000DOOO
0000 maplil[jl = 0000000000000 OO0O00O000OG,j)e{1,1), (1,3),
(1,4), (1,5), (2,1), (2,2), (2,3), (2,5), (3,1), (3,3), (3,5)} UOIO0 maplil []
=0 000000000 (1,j) (D0 <1i<4,0<L j<Le)y0000maplillj] =

-1 000000000000000000000000000maple1ly10 —m,; 000

O 0Omap[0][j] = map[h+1]1[j] = -1 (0 < j < w+ 1)0map[i]l [0] = map[i] [w+1] =

-1 (0<i<h+1) O0ODODODO%O

oobooog22roboooboboooooboooooobbooooobooooboooooogon
00000000000000%00000000000000000000000O0000O000
MAXWHOOOOOOOOOOOO 1o0o000000D0O0000D000O0O0Oscanf 00000000
goboo0o0ooooboooooboooooobobooooobobboboo0ooo0bO0O0000 mapdata.txt
000%000000000000000000000DO00O0./showmapg < mapdata.txt 00
gbooooooboboooobobooooobooboooon
oooooo 27
// display maze by hgcc
// Filename = showmapg.c (2015.07.01 versiomn)

// Compile : hgcc -o showmapg showmapg.c
// Execution : ./showmapg < mapdata.txt

#include <stdio.h>
#include <handy.h>

5000000000000 00D0000000000N segmentation fault 00 D000000000000
0000000 (11.20)0000000000000000-1000000000000000
"00000000 HandyGraphic 000

500000 emacs 1000000 MOOOO0OOO0OO0O NeoOfficed 00 LibreOffice 00000000000
D00D0D0D0Oscanf 000D00D0O0O0OO0OODOODO
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#ifdef HgSetFillColor
#define MyFillColor(x) HgSetFillColor((x)) // for HG_VERSION 0.6

#else

#define MyFillColor(x) HgSetPaintColor((x)) // for HG_VERSION 0.5

#endif

#define MAXWH 100 // 0000000000000O0 1000000000

#define MAXBLOCKSIZE 64 // 00000000000000000

#define MAXWINDOWSIZE 700 // 000000000000 ODOOOOOOODO

int map[MAXWH+2] [MAXWH+2]; // 0000000000000 0OOOODOOOOOOOOO
int w,h; // 00000000 (QOOOO)

int main()
{

int i,j, d,size, maxwh, ret;

scanf ("%d %d", &w, &h); // 00000 O0OOOO0O
for(i=1; i<=h; i++)
for(j=1; j<=w; j++){
scanf ("4d", &d); // 10 jOOOOoOoOoooooooo
map[i] [j1 = -d; // 000000000-10000
}
// 0000000000000
for(j=0; j<=w+l; j++)
map[0] [j1 = map[h+1]1[j]
for(i=0; i<=h+1; i++)
map[i] [0] = mapl[illw+1] = -1; // 0O0OO0O
maxwh = (w > h 2 w : h); // 000000000000 maxwh OO0
size = MAXWINDOWSIZE/(maxwh+2); // UO0OO0OO0000O00O00O maxwh+2 OO0
if (size > MAXBLOCKSIZE) size = MAXBLOCKSIZE; // U0 0OU0OO0O0OOOOOODOOOO
// 0000000000000 DO0O000o00oOoboooog
HgOpen (size* (w+2), sizex(h+2));
HgSetColor (HG_BLACK) ;
HgSetTitle("w=/d h=4d", w, h); // 00000O0O0OOOOOCOCOOOOOOO
for(i=0; i<=h+1; i++){
for(j=0; j<=w+l; j++){
if (map[i] [j]) MyFillColor(HG_RED); // 0O DO OOOODO
else MyFillColor (HG_WHITE) ; // 00000000000000
HgBoxFill(size*j, size*(h+2-i-1), size,size,0);

}

-1; // 0DO0O0O0O

}
HgSetColor (HG_CYAN); // 0O OO0O0O0O0O0O0OOOOOOOOOOOOOO
for(i=0; i<=h+2; i++)
HglLine (0, i*size, (w+2)*size, ixsize); // 000
for(j=0; j<=w+2; j++)
Hgline (j*size, 0, j*size, (h+2)*size); // OO0
HgGetChar(); // DO O0O0OO0O0O0O0OOOOOODOO
HgClose () ;
return O;

#ifdef 0 O #endif 0 000 0 HandyGraphicOOOOOOO 0.5X00 06XO0OOOOOO
gbbooobooobooboooobooboobdw>h 7w : hOOOOOOOOw > hO0OO
00000000wDOO0O0OO00ODOO0O0000KO0000%0000if0000000if (@0) O0;0

000DmMO0?01:02000000000000000000000 1000000000000 200000
oo
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0000000 MO00000000000000000000M 0000000000000
gboobooooobooboobobobobooooobooboobooboooooobon

11.1.2 0OO0O0O0O0O

sO00GcOO0000000D000000O0000SO0000000000D0O0000000O0
00000000000000000000000000000000 -0-0-0000000
ooooo

00 (i,j)=1,1) 000 ()(@OD0000000O)(@)O0000 (1,2)0000 (@) 00
000o0o0ooo (®,1))0

000 (2,1)00000 (2,22000 (UO0OOD0OOO0DOO0O (®2,3))000000
000 (2,3)000 (2,40000 (e 0000000000 (@(3,3))0

000 (¢3,3)00000 (@@3,4)000 (®4,3))000 (E,2))0000000000
0000000 (@2,3)00000000 (2,300000 (E)O000000000000
0000000070000 (3,3)0000000000000000000000000000
(2,3)(®) 0D0OOOO0DOOO

000 (2,3)00000000000000000000000 (@(2,2)000000000
000 (2,2)0000000(@)0000000000000000O00000O0 (@®(1,3))0
oooooooo

0000000000000sS00Gc000000000D0000 6(®(3,5)0000000
ooo
0000000000000000000 (depth first search) 0000000000000
00000000000000000D0D00000000000O0D0DOO0D0000000000
00000000000000000000000000D0D0DO0D000000000000 (0
O000Omaplil[jl = 1;)0000000000000000000DOOOODOOOO
0410004000000000000000000000041000a-b-00-y00
00000000o0o0ooooOooG((@3,5))0000000s00GOO0O00ODOOOOD
00000000000000000000000000000D000000000000 Omain
0000 dfs(1,1)000000000000000dfs000000000000O00000O0
00000000000000000000000000000000main000000000
00000000000000000000000000000000
void dfs(int i, int j)
{ 00000 (i,j590000(® 00000000000000000

mapl[il[jJ1 O0-1(000) 00000

map[i]1[j1 0 1000 (i,j) J00O0O0) 00000

000 (1,j) 00000000000 (maplil[j]1 = 1;)0

// 000000000 (0000000)0dfs000000000000

dfs(i, j+1); // O

dfs(i+1, j); // O

dfs(i, j-1); // O
dfs(i-1, j); // O

ooooooooog
goD0000000000DO00O0O0O0O0O0O0
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0ob 3o 00000bO0b0ooooooboboooboboboooobOobOidd mol.txtd m09.txt
000007™00000000000000 (w)OOO ()0 100000000000000D0
gbobooooobooooobooboooooboooboan

042: 000000000 (OO 3)

ugbob oboboboobooboobobobobb 2robdboooobdb 20000 mapO
gboboooooboobooboboobdbOdiHandyGraphic OOOO0O00O0O0O0
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gboooooobooboooz2b00000

e JOOO200000O00O0O0O0OOOOODOOOOOOOODOOOOODOOOOOODOOO
gbooooooboobooosboooon

e (10

gbooooooobboooboooobooobobooobboeoOoOoOooboOoOoecoOOoObbOOonn
000000007060 000000000000000000DO0D0O0O0sO00cOOOOO0D
gbooooogoboo

0400000gooooooobooogoooooosooooDoob ,v»ooogoowoo
oo0 apoooo g, »Hoo00oooboob -0 -0-000000D0b000boobooo
gooooooooo@uoooooooboboooooooboooooon

o0 (1,2)00o0ooooooogoo eonoobD e,»Hboo0oboooo @Woooog
000000000000 00000020™0000 (2B)00O0O (1,00000 (0,1) 0000
goooogoo (2c, 2p)O
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0 43: 0000 (00 4)

00000001000000000000000000000000000200000000
(2,1) 0000000000 (2,2)000 (3,1)0000000000 (0000000000
0000000000000307000 (34, 38)000 (2,00000000000000 (3¢)0
00 (1,1)00000001000000000000000000000000000 100
0000000000000 (3D)0
00000002000000000000000000000000000300000000
0000000000003000000000 (2,2)0(3,1)000000000000000
000000 (2,2) 00000000000 (2,3)000000000000000040000
0 (4000 (3,2) 000000000000 (43000 (2,1) 0000000000000
0000000 (400000 (1,2) 000000000000 (4D)0
00000030000000000000 (3,1)0000000000 (3,2)0000000
00000 4E)000 (4,1) 0000000000000000400000 (4F)0000 (3,0)
000000000000 (46)000 (2,1)0000000000000000000 (4B)0
O00O0OO00OBA — 5H, 6A — 6H, 7A — 7H, 84 — 8E 0D OODOOOOSEDODOOD
G(4,5) 0000080000000 O0DOSO0GOOOODOOOD80DOOD
O000000000000000 (breadth first search) 000000
0000000000000 SsSO00000000000000000000000000
00000000 44000006=(4,5)88) « (4,4) T8 (4,3)68) _ (4,2)58) _ (4,1)“F)
- (3,D)BB) L (2,1)®B) L s=(1,1)™ 0OoOO0O00070
0000000000000000000000000000000000000000000
000000000000000SsO00000006O000000000O00O0D0O0OOO0O0
00000000000 (000, quewe)’00000000000000O0C0ODOOCOOOO
O0000000000000000000000000000000000000000000
00000000 (04500)0
0000000000000000000000000s000000000000000
000 (maplh]lw]) 0 0000000000000 000D0OOOOODOOOOOODOOD
000000o000o0oo

OOo00000000000200000000 (2,1)0000000000000 1000003000000000
“0ON00000000000000000000000000000000
TTFIFO (first-in-first-out) 0000000
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il FABITHICEa—)

F— 2D oo o F— a2
A8 5 HD) < ' | I | )

0450000 (000)

void bfs( )
{ 000000 (1,1)0000map1]IM11=1 000 @, 1) 0000000000
opooooooooo {
ooooooooooooooooooooooonD (d,;) 0000
0ooo i,y Obobooo (uoooooooooooD G,y oooo |
000 (i’,j7) 0000000000000 0000000mapli’]10j’]==0) 00O
map[i’]1[j’] = mapl[il[jl+1 OO0 (i’,j>) 000000OCOCO0O
ooo (’,3»H0o0o00o000oooo

}
}
}
1A . . —
1,1 D — AHEOMERF 2 —TBMENDT —H
2B .
1A=(1, D DM = 2,1) — Fa—PLRUBRN VLB SN T —H
s~ B[]+ 50
(2,2)]3,1) RN

3B | 4A
3A=(2,2) DAL =
IA | aF
3B=(3, ) =
IF | 5D
4A=(2,3)DILEE =
5D | 68
AF=(4, 1) DM =
5 | 6A
5D=1, 30 =
) 6A | 6E
SE=(20us =
6L | 7A
6A=(L DD =
7A | 7E
6E=(4,3) DALIE =

7E | 8B
TA=(1,5)DILEE = )@ | Goal
|

8B | 8E
TE=(4,4) DLFE =

O 46: DO0O0ODOOOODOOOOODO

044000000000000000DOO0OODOOOODODOOODOOOOODOOOO (O
46 00)H0

1. A,y 0000000ooo
2. D000oooooooooooooooooonoono (1,00
3. 1,n)yOooooooooooooo0ooOooooooooooD (2,1 000000000
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[é2]

6
7
8
9

10.
11.
12.
13.

000000ooooooooobooooooooo (2,00

(2,1) J0000oOoOooooooOOOOCOOOOOOODODODODO 2,0 @,yOOOOOODDOO
oood

. gooooooooooboooooooooooDoDn 2,20
. (@,2y00o0o0o0o00b0bbbobooooooooooooboDonD (2,3 000000000
. goooooooobobobobboooooooooon @,no
. @,nyooooooooboooboooooooooooooD (4,1 000000000

00o0o000ooooooooobooooooonoo (2,30
(2,3)0000o0oooooobobobobbboooooooooo0 1,3y ooooooooo
oooooooooooooooooooononoono (,n0
(4,1) J00O0O0OOOOOOOCOOOOOOO0OO0O0O00O0O0O0 (4,2000000000

oo

st 0gb0b0o0oboobOooboboooboooboooboooo oboboobobooooooon

U00 mOLtxtUOm09.txt DO O O0OO

o000 oooboobobooooobooboboboooobooboooooobooboooooon

oo

gobooboobodoobooooobooobooobooobobooooboooboooboboog
gbobooobobooobobob eobbboobobooboobobooboboobon
100 x 100 =10000 00 0000000000000 O0O0OO0O0ODOO0OOOOOO0O0O0OOn
00070

struct position { // O00OOO0O00000O0OO

int raw; // 000
int column; // 000
s
#define QSIZE 10000 // 00000000
struct position queue[QSIZE]; // 0000
int front=0; // 000000000 @O00000008)
int rear=0; // 00000000 (boboooooooao)
void enqueue(struct position data) // 00000 data000O0O
{
queue [rear++] = data; // 0000000
}

struct position dequeue(void) // 000000000000000000000O0O0O00O
{

return queue[front++]; // 0000000000 0000o
}
int is_empty(void) // 000000001, 000000 oODOODO
{ // front 0 rear OO0 0000000 DOOOODOO
return (front == rear); // 0000000000000 0O 11, OD0ODOO0 oD
}

32003100000000047004800000000000000000007°

000000000000 000D00000000000D00000000000000000000000000
0o0Do0OoO0oDoOoooDo
Yooooooo
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047 00000000

w=>5 h=3 unreachable

048 00000000000
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